8 7 | 6 | ‘ 4 3 2 1
ITEM |PART NO. DESCRIPTION QTY.| WEIGHT T o T = ——
| RRUMBL.OI1 RRU MOUNTING ANGLE 4 | 4.46 LBS INITIAL RELEASE ACG 10/01/21
2 |[RRUMBL.02 FRONT MOUNTING BRACKET, WELDED 2 | 4.67 LBS
3 |[RRUMBL.03 BACKING BRACKET 2 | 2.831BS
4 |RRUMBL.04 WIDE SUPPORT END MOUNT 2 [2.10LBS
5 |[RRUMBL.05 NARROW SUPPORT END MOUNT 2 | 1.331BS
6 |GD041200 | 1/2-13 UNC x 12" Galv Threaded Rod (A307) | 4 | 0.67 LBS
7 |GB04145.01 [1/2-13 UNC X 1-1/2" GALV HEX BOLT (GRADE 5)| 8 | 0.13LBS
8 |GWFO04 1/2" GALV USS FLAT WASHER 8 |0.04 LBS
9  |GWLO4 1/2" GALV LOCK WASHER 20 | 0.01 LBS
10 |GNO4 1/2-13 UNC GALV HEX NUT (Gr.5) 20 | 0.04 LBS
11 |[MTC8196 3/8-16 UNC X 1-1/4" GALV. CARRIAGE BOLT | 8 [0.055 LBS
12 |GWFO3 3/8" GALV USS FLAT WASHER 8 10.01LBS
13 |GWLO3 3/8" GALY LOCK WASHER 8 10.01LBS
14 |GNO3 3/8-16 UNC GALV HEX NUT (Gr.5) 8 | 0.02 LBS
— 1{@3
=
< > NARROW 4.8[123]
2 )
(| ;ﬂgz
} (| ﬁgj v
o~
0
X < > WIDE 9.5[241]
(@]
L
o
1 _ P a
2.44(61.9] —f=—= — ©.44[11.1]
]
C C |(3\_+ ©o OO0 ©
IZE{C C D) C ; DE D) O o0 Oo0
[ o O 0 (O ©°
p) C |(/)_ @.56[]4.3] ® o O o G
]
~————13.6[344.5] ——
— 18.0[457.2] -
o S [ [ " FM-RRUMBL
NOTES: TOLERANCES NLESS OTHERVISE SPECIED LA e RO
1. ALL METRIC DIMENSIONS ARE IN BRACKETS. KTl M s |00 | ASTMATONANISGLS | ASSEVELY DRAWING
2. STAMP PART IDENTIFICATION NUMBER. K= =010 R Rt
5. WELDING WORKMANSHIP PER AWS D1.1, TABLE 6.1. TR A TR 1 A = @ FIMO >)>
DO NOT SCALE THIS PRINT 42,94 LBS
2 ' 1

8

' 7 ' 6

4 [

3




These drawings and specifications are proprietary | orm ex:
property an

may be used only for the specific ACG - 20f2 o FM'RRUM BL
purpose authorized in writing.
CHEC! g

SCALE:

KED BY:
ALL DIMENSIONS ARE IN INCHES U.0.S. MKV NTS

A UNIVERSAL RRU MOUNT
7. ALL METRIC DIMENSIONS ARE [IN BRACKETS. |

MATERIAL

X =+ .06 ANGLES £ 10001721 ASTMAMOT/1018 Gr36 | ASSEVBLY DRAWING
XX =+ .03 FRACTIONS ﬂ/SZ
2. STAMP PART [IDENTIFICATION NUMBER.

XXX= £ 010 E .
5. WELDING WORKMANSHIP PER AWS D1.1, TABLE 6.1. RENOVE BURRS AND BREAK EDGES 10

A L (&) FIMO))
DO NOT SCALE THIS PRINT 42.941BS
8 I 7 I 6 I 5 i 2 I

4 I 3 I



